
Lines	
  

	
  	
  	
  b.	
  Of	
  the	
  4th	
  and	
  5th	
  graders,	
  2/5	
  are	
  4th	
  graders.	
  How	
  many	
  	
  	
  	
  
5th	
  graders	
  are	
  there?	
  

	
  
Angles	
  
Judith	
  spent	
  $11.25	
  for	
  a	
  pizza	
  and	
  soda.	
  The	
  soda	
  cost	
  $8.25	
  
less	
  than	
  the	
  pizza.	
  How	
  much	
  did	
  each	
  cost?	
  
	
  
Polygons	
  	
  
Martha	
  has	
  6	
  coins	
  that	
  are	
  quarters,	
  dimes,	
  and	
  nickels.	
  She	
  
has	
  a	
  total	
  of	
  $0.80.	
  What	
  combination	
  of	
  coins	
  does	
  she	
  have?	
  
	
  

At	
  Forrest	
  Elementary	
  (K-­‐5),	
  5/12	
  of	
  the	
  students	
  are	
  4th	
  and	
  
5th	
  graders.	
  There	
  are	
  300	
  more	
  K-­‐3	
  students	
  than	
  4/5th	
  
graders	
  at	
  the	
  school.	
  	
  
a. How	
  many	
  students	
  total	
  at	
  school?	
  	
  


